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COMMERCE
( Honours/Regular )

Paper : COM-HC-4016/COM-RC-4026
( Cost Accounting)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Sull marks for the questions.

Answer either in English or in Assamese.

Answer the: following as directed : (any ten)

1x10=10
Roe! Pl were AT o[ 72h19 ©ed foral ¢
(a) Costing is a technique of cost.

(Fill in the blank with appropriate word)

T A B (T RS @Ol (e |
(&7g@ *7eT T A2 25 7))
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(b)

(©

(@)

(e)

Cost accounting is based on figures.
(Fill in the blank with appropriate word)

T 5 [21eiFe 2SS ST

FE | (ToR@ =7 2T 912 759 1)

Variable cost per unit remains constant.

(State whether the statement is true or

false)

SifRaSTIIeT A ST (Al i T |
(Efeeh! 7] & ©e7ey fersll)

Wages paid to factory supervisor is

overhead.
(State whether the statement is true or

false)

IR AR ARt 1 AR et O
Toifze 7 | (B! o7e7 (& oPrey fersl)
Re-ordering level = Minimum

consumption x Minimum re-order period.
(State whether the statement is true or

false)
9[4S T = o GATSI x FHON 7S
gt el | (B! ey (o ST fal)

Which methods of valuing materials is
suitable in terms of rising prices ?

e e NS IR AROC ANl JeTIE
N =2

(i) LIFO (F=)

(i) FIFO (/%)

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 2
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(9)

(h)

(iti) HIFO (=)
(iv) FILO (/D)

(Select the correct answer)

(2% TesCh! AR Trea)

In which industry process costing is not
used ?

CRIRTCOI STaiical eiferan I3 fRpteieaet Amfe e
NPCI?
(i) Chemical (IFTAF)
(ii) Textiles (IF)
(iii) Cement (f5GT5)
(iv) Oil refinery (CSe7 CHLINE)
(Select the correct answer)

(i Teweol IR Bfen)
An abnormal loss is
el Fiog e
(i) due to the nature of process
2T BT AT
(ii) due to the abnormal factors
SIS IS AR
(iii) None of the above two
TARIE YAI0] =
(Select the correct answer)
(il Tesco! R Tfea)
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()

0)

(k)

(?)

Costing provides all of the following

information, except
(Fill in the blank from the following

options)

(i) product costs

(i) cash forecasts

(iii) inventory value

(iv) cost of goods sold
%1 PR PIerae] SoT CRINCO! SR T I TRl
© G ?

(i) Teolre T

(i) %R A

(i) TS A IeT

(iv) T TT

Define the term ‘costing’.

Bes{ive 7 fRp1oel (Pt ke et |
What is idle time ?

SRS A A 52

What is meant by cost-plus contract ?
8 7RIS e e o gt 2

Write the meaning of imputed cost’ in
Cost Accounting.

Besive 23 Boies Sicaifee T =g ford |
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o

() What is meant by Cost Ledger

Accounting ?

T 31 YA Rpteieael e 15 gl 2

(o) Identify the types of Specific Order
Costing :
e o) 7 Rptosels APReTR e 1 ¢
() Batch costing
D1 #1165 T fepioreset
(ii) Job costing
G RpieRel
(i) Process costing
eiferal feptsisel
(iv) Both (i) and (ii)
(i) = (i) TRt
(Select the correct answer)
(i Bewedl AR Efeream)
Answer the following questions : (any five)
2x5=10
weTe WA == ReFIe! Aioo1q ©es forat ¢

(a) Write any two distinguishing features of

4 (Sem-4/CBCS) HC 1/RC (CAC)/G S

cost unit and cost centre.

(3115 OIS T (S NS 75/ 210 gy
forar|
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(b) What is economic order quantity ?

(c)

fro oo 2 &6 e

State the meaning of overtime.

SR 7 A 62

(d) State two features of indirect labour.

(e)

ljj

(9)

(h)

ST S 70 ([@MP B 9 |

State two important features of contract
costing.

50l 2770 Roi%IS 767 2 (R B |

What is meant by ‘minimum level’ in stock
control ?

g Aoy AT IR TN § e 6 @il 2
What is machine hour rate ?

s 01 [ 62

What is meant by absorption of
overheads ?

Golfzw TR9 (i T 76 e

Answer any four of the following questions :

5x4=20

\CE R 2 R S S e (0 A S A AR

(@)

Write five differences between Financial
Accounting and Cost Accounting.

e f2pieiae % Berive 3 f2piwieT Niere
! #1551 #f T |
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(b)

()
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Write a short note on ABC analysisof

inventory control.
e® 219 FFEeT ABC Rese siwfod esige «ft
DO feri | /

Black and White manufacture and: sell
‘Dirt Buster’. Following details are
available for the year ending on
31/03/2022 :

Black ®% White € ‘Dirt Buster’ Gesiind
i< [EI B 1 31 6 2022 IR o[ 39
sisifoate fage were ) 204 ¢

Direct Materials
YOI (FOINIST
Direct Wages
Ao A3
Factory expenses at 25% of prime cost

e 495 25 IIE 25%

Administrative expenses at 20% of
factory cost

PO 4T PIAA TIT 20%
Selling and distribution expenses at
Z 300 per unit

! o {es4 496 300 B &S (it

< 12,30,000

¥ 8,00,000

Contd.



(@)

Opening stock of finished goods
(100 units) at = 2,53,750 and closing

stock of finished goods 80 units. Number
of Dirt Busters sold during the period

1,220 unit at X 4,000 per unit.
SR TS 7 100 (4I5S 2,53,750 T i

S TS A 80 CAif5 | STt (I 4,000
Bt 1,220 (Nt [kt 31 =

Prepare Cost Statement showing cost of
production per unit and profit.

ofS (o159 TRl AU I A TS (TRIR
@3 7 [l 2o 1|

Following information relating to a type
of raw material is available :

OF RT 469 (OIS A SRR 9ers [l
EGE

Annual demand Z 4,800 unit
I vt

Unit price 2 4.80

(5010 5T

Ordering cost per order 2 8.00

ST T 4 T

Storage cost 2% per annum
@AY RIS

4 Qs AICROQ HC 1/RC (CACVICE R

(e)

(9)

(h)

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 9

Interest rate 10% per annum

LGEEEER
Lead time Half month
ot T gl TR

Calculate EOQ and Total Inventory Cost

in respect of the particular material.
3+2=5

R RS (@EE EOQ S 0 TGS #49 I
S{eie 41 |

How is profit of an incomplete contract
ascertained ? Explain.

e O o191 1T (RRGRCR 211 1 AR, D=0
sl

Explain the needs for reconciliation of
cost and financial accounts.

%&Wmﬁmwﬁ@ﬂﬁmwﬁw«
el Ui 1 |

Explain the concept of perpetual
inventory system as a technique of

effective material control.

e e e RS et 2o1el o e
ol SO AIFCICDT DI |

Mention five special features of a good
costing system.

msﬁgmﬁmmwmﬁﬁmhﬂ@]w

34l |
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4. Answer any four of the following questions :
10x4=40

T Tl SHICIRE [ReAIee! BiAb1T Bed il ¢

(3 What is cost accounting ? Explain the
- objectives of cost accounting. 3+7=10

Tesva T Bpieiesd Mo e Tesve I3
T2pioiacs Toal I 4 |

(b) Bishal is employed in a factory. From
the following information, calculate his

earning per day under —
(i) straight piece rate; and

(ii) Taylor’s differential piece rate
system. Normal rate per hour
Z 90.00. Standard time per unit 60

seconds.

Differentials :

80% of piece rate below standard
120% of piece rate above standard

Production achieved : 500 units per
day.

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 10

waﬁwmwnwﬁmﬁmw
(o8 A Tt ol = —

() TRE SR A
(i) Taylor’s I SR o I AR |
FroiRT 29 &S TS 90.00 5H
e 7 &lfS (At 60 (LIS
OO 3
OFE AR AN FEE I oI 80%
@l AR I 7] 2R <ol 120%
o5t 500 Coifb T BT |

(c) Briefly describe two remuneration plans

together with their advantages and

disadvantages. 5+5=10
w5 AR AR Rl TSP R
e 9ot <

GiLLl  Contd.
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(d) A product passes through two processes.
The details are as below :

R TeoATm 01 eiferae e Sifows 6 |
e RgoeiE were fim 2 ¢
Processes
el
- (D) ()
Units produced 9,300 —
et 79 (sifb
Cost per unit (in 3) 12 —
afeto! (o537 (o)
Other materials (in 3) 30,000 20,000
S 1 e (5<) ’
Labour (in ) 80,000 90
; ,000
7 (b<)
Overheads (in ) 40,000
; 30,000
B 3 (53)
Normal loss (% in input) 8 10
O S (Setming o)
Scrap value (3 per unit) 10 15
? (41 99 47 (2ffo (315 o)
ctual output (in units) 8
,700
&4 G (31 fRiere) it

Prepare Process I and Process II
accounts. Also ascertain cost per unit

SfEF 1 <% eifert 1 515} 2o
oo T e PR
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—

(n) What is meant by Cost Ledger
Accounting ?

TeA T ST o9l i & 3@l e

(o) Identify the types of Specific Order
Costing :
RET S 73 RoIeRes AFTR e 41 3
(i) Batch costing
B! #1590 {RHIAF
(ii) Job costing
I fepteret
(iii) Process costing
el oo
(iv) Both (i) and (1)
(i) S (i) TR0
(Select the correct answer)

(3P Teseh! AR Tfer )

9. Answer the following questions : (a@ny five)
2x5=10

wsTe MA@ o[l Rezar 2ivoiq ves ol ¢

(a) Write any two distinguishing features of
cost unit and cost centre.

2 (o115 SN T (F Mero 7 2Niefare &f¥ e
1l |
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(b) What is economic order quantity ?

frera eie st 52

(c) State the meaning of overtime.

SR 7 e (52

(d) State two features of indirect labour.
I & 70 Q%) B 4 |

(e) State twoimportant features of contract
costing.

2! 271 TRpiol 70 etim e S |

(f/ What is meant by ‘minimum level’ in stock
control ?

TG© #o fFFEe TTRIT FoN B e 6 3@ 2
(g9 What is machine hour rate ?

JifEF 0! YT e 2

(h) What is meant by absorption of
overheads ?

Tsifew 31 (ol T (52

Answer any four of the following questions :
5x4=20

oot al eHIRIRT e bif<b1q Tes & ¢

(a) Write five differences between Financial
Accounting and Cost Accounting.

17 f2pI7se) i<k ot 77 f2pi#iee oo
2L AB6! e v |
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(b)

()

Write a short note on ABC analysis of
inventory control.

go Aoy Tz ABC Reswe siafos esi<e 9ib
BCo Tl |

Black and White manufacture and sell
‘Dirt Buster’. Following details are
available for the year ending on
31/03/2022::

Black ©I[% White @ Dirt Buster’ GV
% RT3 | 31 6 2022 SIRC TE2[ T«
Fisifoate faed were M 24 3

Direct Materials
O (FOIIET
Direct Wages
OTF E
Factory expenses at 25% of prime cost

A 46 T IRE 25%

Administrative expenses at 20% of
factory cost

PGETTR 46 R TTF 20%

Selling and distribution expenses at
Z 300 per unit

) o Reg9 4 300 50 &S (51i6e

2 12,30,000

2 8,00,000
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(d)

Opening stock of finished goods
(100 units) at ¥ 2,53,750 and closing

stock of finished goods 80 units. Number
of Dirt Busters sold during the period

1,220 unit at ¥ 4,000 per unit.
S g Ay 100 (315 2,53,750 5F Il
AR WE© #iF 80 (4G | &fSCBt (A1 4,000
Bt 1,220 (9115 Rep! o1 = |

Prepare Cost Statement showing cost of
production per unit and profit.

oS (5T TeAifite AT T Wi Ao TR
G2 73 e 2ee 41|

Following information relating to a type
of raw material is available :

G BT 49617 (FHIIE AN O OeTo 3]
LG R

Annual demand Z 4,800 unit
i oifwl

Unit price 2 4.80

(allG 3T

Ordering cost per order ¥ 8.00

e T @S Home

Storage cost 2% per annum
YA R IR
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(9)

(h)

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 9

|
Interest rate 10% per annum

7 2 A2
Lead time Half month
NS o g R

Calculate EOQ and Total Inventory Cost

in respect of the particular material.
3+2=5

2 RS @ONER E0Q S 0 TES %44 I
sieiel 4 |

How is profit of an incomplete contract
ascertained ? Explain.

Tl F5701 211 3T GRS eI < AR, 0t
|

Explain the needs for reconciliation of
cost and financial accounts.

el 7 ol TR Rem folsR AN
e IS I

Explain the concept of perpetual
inventory system as a technique of
effective material control.

<t S ~1eD e CFPe ot e s
s{o)) @ eq CFECH! W1 |

Mention five special features of a good
costing system.

<51 977 T Roioel ARoT sHi551 CaMTy B

B\
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4. Answer any four of the following questions :
10x4=40

TS il IIRT Rizsieart oA oes e ¢

(@) What is cost accounting ? Explain the
objectives of cost accounting. 3+7=10

T 7T o199 e 2 SeAT
fRoToRer Sy et <wa |

(b) Bishal is employed in a factory. From
the following information, calculate his
earning per day under —

(i)  straight piece rate; and

(@) Taylor’s differentia] Piece rate
System. Normal rate per hour
X 90.00. Standard time per unit 60
seconds.

Differentials :
80% of piece rate below standard
120% of piece rate above standard

Production achieved : 900 units per
day.

4 (Sem-4/CBCS HC 1/RC (cAQ)/G 10
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WQWWWW|WWE%W
(99T el Tofiera st w1 —

(i) I SHE TF; S
(i) Taylor’s OO T* TN AGOW |
Frelke 27 & 61 90.00 Tt
e Y &S (3iite 60 (TP
OReT] ¢
OoTq WATSS A I 2 Ao 80%
B9 AT M0 AT ZT 10 120%
&S 500 (oM T3 B 23 |

(c) Briefly describe two remuneration plans

together with their advantages and

disadvantages. 5+5=10
o ~HifSfRE AR AR S SepRe ARee
efApe 3¢l 1 |

Contd.



(d) A product passes th
The details are as br;)]l;‘gvh:two processes. (¢) What is material control ? Explain the
R T w0l &N AiteE SIS 1 | purchase procedure to be maintained
T RgoeIE weie fiat e o under material control system. 2+8=10
Processes i) et R e S e aies ECURLECRS
2l T @ e Rt |
) (0 I
g 11#%1_” oduced 9,300 E] () What is labour turnover ? What are
Czs 2 : = C;“B various causes of labour turnover ?
€r uni
S Cmm%)) 12 — Explain in brief. 3+7=10
Other materials (in 3) 3010004 oot R S o i e & e ffen e
W @ET W (ﬂﬂ) / w ﬁ; o 9{ W
G 80 i ? FREFCA T
,000 ! : :
& (53) 20000 3k (g) Discuss various bases for apportionment
g;fél;fleadé%n 3 40,000 30000 of overheads to cost centres.
© 77 (51) ’
Normal loss (% in i <5 (R i A Rt i A fe e
0ss (% in input) 3 10
crap value (3 ;
CEs @I;T ?1@2%;’ f ;r%uc%l;)_ - 10 15 (h) Whatis job costing ? What are the source
U o : ;
Actual output (in units) ) " documents used in job costing ? Explain
2T B (415 Rpero) i 7,800 the procedure of job costing.  3+7=10
B 2 .
repare Process I and Process I] mmﬁwmﬁﬁs?wwﬂ&mﬁmﬁsﬁs
ac P
3iﬁ;‘;’tllnt;;jﬂk1so ascertain cost per unit : DGR ISIERE 4 =2 I IR oI
A1 LSS 2P 1 1=t oo 3 o ot 01
- © :
OIS <57 et 1| ik |
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() Whatis abnormal loss ? State the causes () G
of abnormal loss. Also explain the Works expenses allocated to jobs e
procedure of calculating abnormal loss (e SR 4 TSI /R
in process costing. 2+2+6=10 i Sl s 50,000

Administrative eXpenses J
SRISIRIS 5 5 2 G2 o7 TP SE 1 | 2P <
A I3 B SR S siim 79 Administrative expenses allocated tojobs 34,000
R Y11 34 | | (A SRR 1 I 435

() The following are the summary of Finished goods transferred to warehouse  4,00,000
transactions obtained from the costing | (SR T ARG TR

records of Champa Company. .
TS Al AT AR 5241 T <

You are required to journalise the above
transactions under integral accounting

fev1eieael RT =1 T G s [ l system. S
R) (&) ‘ S5ITS ¥F! FRTAEAR AIS Bl afoe
Direct wages (cash) 30,000 i 2fRfe
ST & (W)
Indirect wages (cash) 20,000
AT ] (F917)
Purchases (cash) 40,000 s
G (917)
Puchases (credit) 2,00,000
T (31l)
Stores issued against production order 1,70,000
U #71 WERCS (51 A R
Works expenses (cash) 40,000
PIFIEI 45 (o)
11000
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